BK Falkenberg
Trivselbridge 2021-09-01

Partavling, 6 bord, 12 par. Antal brickor: 22. Medel: 110.0.

Plac Par Poéng % Namn MID Klubb
1 12 131  59.55 Christina Berthag - Ann-Katrin Selander 33608 33609 Sloinge BK
2 4 128  58.18 Ove Olsson - Sven-Olof Onnesson 10903 10902 BK Falkenberg
3 11 127 57.73 Kenneth Johansson - Lennart Ostman 11997 36190 BK Falkenberg
4 3 122 55.45 Ronny Karlsson - Lennart Nilsson 31547 19849 BK Falkenberg
5 5 120 5455 Stellan Andersson - Vera Gemrud 2726 23764 BK Falkenberg - BK Allians, Halmstad
6 8 112 50.91 Mats Gunnarsson - Per-Arne Rosén 9495 7374  Atrans BK - Kinnareds BK
7 7 110 50.00 Goran Hestner - Sten Aronsson 92606 37634 BK Falkenberg
8 2 97 44.09 Ingela Nilsson - Anita Andersson 1079 2991 BK Falkenberg
8 6 97 44.09 Lars-Bertil Andersson - Carl-Gustav Johansson 79588 37821 BK Falkenberg
8 9 97 44.09 Olafur Valgeirsson - Ragna Olafsdottir 1256 9197 Atrans BK
11 1 94 42.73 Birgitta Karlsson - Solveig Tideman 31546 19838 BK Falkenberg
12 10 85 38.64 Jan Janson - Karin Janson 37924 43412 BK Falkenberg
1 497543 Basta kontrakt 2 496 Basta kontrakt 3 4 D863 Basta kontrakt
Nord v384 4y O D -1 100 Ost vE32 44 S =620 Syd vD3 3v V =-140
Ingen + EKn82 NS ¢ D9432 ov + D1093
»K8 & ¢ v & NT #1075 & ¢ v & NT #EKn6 & ¢ v & NT
462 oK N46 497 4 Kn4 4875 N6 7 9 109 4 KKn10754 «E N6 6 456
vED2 v97653 S46497 vKn v 109765 S6 7 9 109 v Kn4 v K87652 S 66446
47643 ¢ KD5 087 9 45 ¢ KKn8765 ¢ 10 076 333 ¢ 652 ¢ EK 077987
#E654 #DKn32 V87945 #D982 #EKKN3 V76333 «D9 #K1052 V77987
4 EDKn108 # EKD1032 492
v KKn10 v KD84 vE109
+ 109 ¢E + Kn874
#1097 *64 #8743
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
12 1 34 S+1  v2 170 100 00| 5 7 44DS= ¥vJ 790 100 00| 7 4 44DV-2 3 500 10.0 0.0
2 8 34S= a2 140 80 20| 2 8 44S-= vlJ 620 70 30| 6 8 2NO-3 ¢4 300 80 20
10 9 4v0-1 s A 50 6.0 40|12 1 44S= vlJ 620 70 30| 3 9 3NO-2 *7 200 6.0 4.0
4 11 44 S-1 +4 -50 30 70| 4 11 24 S+2 v 170 20 80| 5 1 4v0-1 *7 100 20 8.0
6 3 44 S-1 *A -50 30 70| 6 3 24S+2 vJ 170 20 80|11 10 3v0O-1 ¢7 100 20 8.0
5 7 44DS-1 ¢4 -100 0.0 100(10 9 24 S+2 vJ 170 20 80|12 2 4v0O-1 8 100 20 80
4 & EKNn6 Bésta kontrakt 5  DKn8 Bésta kontrakt 6 « KD84 Bésta kontrakt
Vast v 10872 3¢ N =110 Nord v 62 3v O =-140 Ost v 108 6y O =-1430
Alla ¢+ Kn3 NS ¢ KKn852 ov + E64
*KD97 & ¢ v & NT *732 & ¢ v & NT #10976 & ¢ v & NT
«D9 & K542 N796 87 4 E4 4 K10652 N58 456 4E9753 4Kn N4 1141
v 9543 v EKKn6 S7 9686 v D53 v EKn107 S 58456 vKD vEKn7642 S 4 11 4 1
4986 + D105 O5 4756 ¢ D1097 ¢6 085987 4832 ¢+ KD105 O 8 12129 10
#EKNn106 #42 V647586 #0864 #EDI10 V858287 #EKKn #D3 vV 8 12129 10
410873 4973 41062
vD v K984 v 953
¢ EK742 ¢ E43 + Kn97
853 #KKnb5 #8542
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
5 1 2vV-1 +J 100 90 10| 8 5 2¢ N= a2 90 100 00| 4 10 4v O+1 &4 -650 10.0 0.0
12 2 2v V-1 +J 100 90 10| 4 10 2¢v+0O-1 ¢ A 50 80 20| 7 9 3NV+2 T -660 8.0 20
7 4 INN= vA 90 6.0 40| 7 9 240= 43 -110 50 50| 6 2 4vO+2 a2 -680 40 6.0
11 10 34 N-1 vA -100 40 60|12 3 24 0= +3 -110 50 50| 8 5 4v0+2 ¥5 -680 40 6.0
6 8 lyV+l &K -110 20 80| 6 2 2v0O+1 &5 -140 20 80|12 3 4v O+2 7 -680 40 6.0
3 9 INO+1 2 -120 0.0 100| 1 11 4v O+1 &5 -450 0.0 10.0| 1 11 3NO+3 7 -690 0.0 10.0
7 « D6 Bésta kontrakt 8 & Kn982 Bésta kontrakt 9 453 Bésta kontrakt
Syd v1073 4¢ S =130 Vast v EKn9872 5v S =450 Nord v KD865 5NT N =460
Alla + DKn108742 Ingen ¢ED ov ¢ E54
*6 & ¢ v & NT *K & ¢ v & NT #KKn3 & ¢ v & NT
410842 &Kn53 N 8 106 8 7 4ED764 43 N 6 6 109 10 46 & KKn4 N8 6 8 1111
vEK92 v8654 S 8 106 8 7 v5 v D63 S 6 6 119 10 vKn73 vE1094 S 86 8 1111
+E6 4953 053656 ¢ KKn4 ¢ 109532 06 7 2 42 + K87632 ¢ DKn 056511
#DKn8 #K97 V53656 #10972 #DKn43 V67242 »D105 #9864 V56511
& EK97 4 K105 4 ED109872
vDKn v K104 v2
* K + 876 + 109
#E105432 #E865 *E72
Kontr Ut Res Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
5 11 3¢ N+1 v4 130 80 20| 2 1 4vN= 43 420 50 50| 3 2 44S+1 v 450 9.0 1.0
7 3 26 N+2 v8 130 80 20| 5 11 4v N= 43 420 50 50| 8 4 44 S+1 &5 450 9.0 1.0
8 10 3¢ N+1 v8 130 80 20| 7 3 4vyN= 43 420 50 50| 9 11 44 S= ¢6 420 40 6.0
9 6 5¢DN-1 &7 -200 3.0 70| 8 10 4v N= 43 420 50 50|10 7 44 S= &5 420 40 6.0
12 4 24 S-2 vA -200 30 70| 9 6 4vyN= 43 420 50 50|12 5 4a4S= ¢3 420 40 6.0
2 1 3NS-3 v2 -300 0.0 10.0|12 4 4v N= ¢T 420 50 50| 6 1 44S-1 &5 -50 0.0 10.0
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10 4 D965 Basta kontrakt 11 oK Basta kontrakt 12 4E3 Basta kontrakt
Ost v5 4ANT N =630 Syd v KD10983 5v SD-1-100 Vast vEK 6¢ N =1370
Alla ¢+ D9742 Ingen + K98 NS + EKDKn85
»E86 & ¢ v & NT #Kn65 & ¢ v & NT #ED9 & ¢ v & NT
a74 « EK1083 N 10108 8 10 «D108632 4 E754 N 8 8 103 6 49652 & KKn87 N 8 12118 11
vKnl10942 v863 S 10108 8 9 v- v 7642 S 8 8 103 6 vD72 1084 S 7 11118 11
¢+ E108 +53 033553 ¢ E643 ¢+ Knl0 045 3 105 4976 3 051152
*732 #Kn94 V33553 £K82 #743 V 4 5 3 105 #863 #KKnl072 V 5 1 1 5 2
& Kn2 4« Kn9 D104
v EKD7 v EKn5 v Kn9653
+ KKn6 ¢+ D752 + 1042
#KD105 #ED109 »54
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
3 2 3NS+2 v4 660 80 20| 4 3 4y N= A 420 6.0 40| 4 3 3NN+4 &7 720 10.0 0.0
9 11 3NN+2 &A 660 80 20| 7 2 4vS= ¢A 420 6.0 40|11 8 3NN+3 a7 690 80 20
12 5 3NS+2 v2 660 80 20|10 1 4v N= A 420 6.0 40|12 6 3NN+2 &7 660 6.0 4.0
8 4 3NS+1 vl] 630 40 60|11 8 4vy N= A 420 6.0 40| 9 5 1y N+5 T 230 40 6.0
6 1 3NS= v4 600 20 80|12 6 4y N= aA 420 6.0 40| 7 2 7NN-1 *7 -100 1.0 90
10 7 2&4S= a7 90 00 100 9 5 44DV= ¥K -590 00 100(10 1 64 S-1 v7 -100 1.0 090
13 4 K98 Basta kontrakt 14 4762 Basta kontrakt 15 4 K1098 Basta kontrakt
Nord v Kn2 3NT N =600 Ost v 9432 54 O =-450 Syd vE 34V =-110
Alla + 102 Ingen + D1085 NS + KKn982
#K109864 & ¢ v & NT 94 & ¢ v & NT »D87 & ¢ v & NT
4 Kn762 #1053 N 107 8 7 9 « EKD984 4 Knl1053 N57 7 23 «4E763 4D54 N48 457
vEKD5 v1087 S 107 8 7 9 v10 vDKn76 S57723 vD9852 vKnl0 S48457
¢+Kn95 ¢ E8764 036554 463 ¢ K92 07 56 119 ¢E74 ¢D 09 4876
&75 #DKn V36554 #E872 #K10 V 6 45 107 &E #KKn96542 V 9 4 8 7 6
4 ED4 a- & Kn2
v 9643 v EK85 v K7643
+ KD3 ¢+ EKn74 + 10653
»E32 #DKn653 #103
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
12 7 2¢ O-2 &A 200 1000 0.0(11 2 44 V= ¢+5 -420 100 0.0| 2 10 54 0O-2 +3 100 9.0 1.0
1 9 INS+2 vA 150 70 30| 1 9 44 V+l 49 -450 40 6.0|11 7 4vyDV-1 8 100 9.0 1.0
10 6 INS+2 vA 150 70 30| 5 4 44V+1 v9 -450 40 60 1 3 3vV-l a8 50 6.0 4.0
11 2 2 S+2 vA 130 40 60| 8 3 5e4V= *9 -450 40 6.0 9 4 4¢ N-1 vJ] -100 40 6.0
5 4 INS+1 vA 120 10 90|10 6 44 V+1 v9 -450 40 60|12 8 440= +3 -130 20 8.0
8 3 INS+1 vA 120 1.0 90|12 7 44 V+1 &9 -450 40 60| 6 5 3¢ N-2 v] -200 0.0 10.0
16 410932 Bésta kontrakt 17 4« KD764 Bésta kontrakt 18 s E5 Bésta kontrakt
Vast v 853 44 N =130 Nord vK 34 N =140 Ost v 107654 54 S =650
oV +D Ingen ¢+E3 NS + E62
#109542 & ¢ v & NT #Kn9642 & ¢ v & NT #D98 & ¢ v & NT
« D754 4« EKKn6 N 104 8 4 6 4109832 45 N 105 7 9 7 «D9 41043 N 8 6 111110
v 742 vE109 S 104 8 4 6 vE vKn98752 S 105 7 9 7 vE3 vK9 S 8 6 111110
¢ Kn10732 ¢ E9865 039496 ¢+ KD10842 ¢ Kn76 028544 ¢ D10874 ¢ KKn953 047223
&D &K V39496 3 D108 V28544 210765 #Kn32 V47223
LX) & EKn & KKn8762
v KDKn6 vD10643 v DKn82
+ K4 +95 ¢-
#EKN8763 #EK75 *EK4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 7 5¢DO-2 48 500 100 00| 1 8 34 N-1 +J -50 90 10| 2 4 4v N+1 &2 650 70 3.0
12 8 44 S= +*J 130 80 20|12 9 5&4N-1 +J -50 9.0 10| 3 11 4v N+1 3 650 70 3.0
6 5 4eV-1 *9 100 6.0 40| 3 11 34 N-2 +6 -100 6.0 40|10 5 4y N+1 3 650 70 3.0
2 10 54DS-1 45 -100 40 6.0(10 5 3¢ V= vK -110 40 60|12 9 4v N+1 &2 650 70 3.0
1 3 3¢0= 8 -110 10 90| 7 6 44 N-3 v9 -150 20 80| 7 6 44 S= vA 620 20 8.0
9 4 3¢V= &T -110 1.0 90| 2 4 44DN-3 +¢6 -500 00 100| 1 8 44S-1 +8 -100 0.0 10.0
19 « DKn108 Bésta kontrakt 20 «D9 Bésta kontrakt 21 & Kn5 Bésta kontrakt
Syd v 643 6NT V =-1440 Vast v 1097 5NTV =-660 Nord v E10986 34 OD-1100
oV + K1062 Alla +D1064 NS + EK43
#65 & ¢ v & NT #Kn432 & ¢ v & NT *K9 & ¢ v & NT
4 K5 «E64 N14141 4E1084 &#KKn7652 N 3 4 4 1 2 2109872 #EA43 N59 956
v 1075 v EDKn8 S14141 vEKD52 v- S24412 vK vD753 S59956
+75 ¢ ED9 O 129 129 12 +83 ¢ KKn9 O 108 9 1111 +5 ¢ DKn9 08 4486
#EKD1093 #Kn87 VvV 129 129 12 *107 *KD96 vV 108 9 1111 #EKn8632 #1074 V84486
#9732 3 » KD6
v K92 v Kn8643 v Kn42
+ Kn843 ¢ E752 4108762
*42 #E85 #D5
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
8 7 74V-1 «Q 100 100 00| 4 1 440+1 ¥3 -650 10.0 0.0| 4 6 29y N+1 43 140 8.0 2.0
12 10 3NO+3 ¢4 -690 80 20| 2 9 464 0+2 &A -680 40 60| 5 2 3vyN= A 140 80 20
2 9 6NO= ¢3  -1440 30 7.0 3 5 44 0+2 &A -680 40 6.0(12 11 3vy N= 3 140 80 20
3 5 6NO= 43  -1440 30 70| 8 7 540+1 ¢33 -680 40 6.0 3 10 2¢ N= ¢+Q 110 40 6.0
4 1 6NO= ¢4 -1440 30 70|11 6 44 O+2 &3 -680 40 60 9 8 4vyN-1 &T -100 20 8.0
11 6 6NO= 43  -1440 30 7.0[12 10 44 O+2 &A -680 40 60| 1 7 3vyDN-1 &4 -200 0.0 10.0
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22 4 EKn10754 Basta kontrakt
Ost vD 5v O =-650
ov 4103
#D832 & ¢ v & NT
49 & D832 N8 2 27 3
v EK7653 v1084 S82273
¢ EKKn74 ¢ 965 O5 11116 9
&5 &#EKN10 V 5 11116 9
& K6
v Kn92
+ D82
#K9764
Par Kontr Ut Res Poang
3 10 44 N-2 &A -100 10.0 0.0
5 2 4v V= s A -620 70 3.0
9 8 4v V= &3 -620 70 3.0
1 7 4v V+1 a A -650 20 8.0
4 6 4v V+1 s A -650 20 8.0
2 11 4v V+1 s A -650 20 8.0
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